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7 Electron Densities of the Elements
Belonging to P-Orbits and Reactivity
of the Molecules Contain these Elements

Fourteenth Report
Kosaku ASADA

On the Cyclic Molecules, Indexes of Reactions fr;, Sr, zrr, Fr, Lr are Calculated by LCAO-
MO Method.

The Prediction about the Kinds of Reactions Induced by these Indexes Conforms to Practical
Reactions of Chemical Literatures. Particularly Prediction about the Opening Mechanism of
Cyclic Molecules Induced by the Indexes Calculated Conforms to Practical Opening Mechanism

of Chemical Literatures.
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A1 Az A3 Aq
2.7182 0.9814 0.2000 —1.4995
c, G Ciatho)  Cuslly) G
—0.3650 —0.3406 0.7071 0.5008
c Ca Co Cos Cos
—0.2686 —0.6941 0.0000 —0.6679
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Fridf*®=2(C12)%=0.2320
fl(E)ZZ(Cw)Z:l.OOOO CI 7}?&8’]
£=0.9635  fLN=0 Co KEFH
F3®'=0.2320  £™M=1.0000 Cs; K
F®=0.5725  f,N=0 Ci REFHY
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ILy=10.0570/4

KR, Ih=1Ihs>Ihy>1Ls &70h 4 A+ VEIRIGH X
Ci=Cs DBV ETTHETFHEIND,

F i, Fi=v/3 —(P12+P1)=0.8339

P12=2(C11C21+C12C22) =0.6688 =P

Fo=y3 — (P21 +P323)=0.3945

P14,=0.2294=Py P23=0.6688=P3,=P12
Fs=y/3 — (Pss+P34) =0.8339
P34=0.2294=P43=Py,4

Fy=v3 —(Pu+Py3)=1.2733
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Ci Ce Cs Ca
1 A1 A2 As A4
2.0000 0.0000 0.0000 —2.0000
c Cn Ciz(ho) Cis(lv) Cig
0.5000 0.4406 0.5531 0.5000
C2 CQI CZZ C23 C24
0.5000 —0.5531 0.4406 —0.5000
C3 CSI C32 C33 C34
0.5000 —0.4406 —0.5531 0.5000
C4l C42 C43 C44

0.5000 0.5531 —0.4406 —0.5000
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Fridf1®=2(C12)?=0.3883
F1N=2(Cy3)*=0.6118 C, kkEw
F2®=0.6113  f2N=0.3883 C, RETFH
F3®=0.3883  fs™"'=0.6118 Cs REAY
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P12=2(C11C21+C12C22) =0.0128 =P3,
Fo=y3 — (P21+P23)=0.7319
P14=0.9874=Py,
P23=0.9874=P3,=Py4
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I | + -
CH,—CH; ~--C=C  CH CHz
N
c=C 4
| | .
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+0 +0  +0 +0.2
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>cC (I: C—C=0

11
Cl CZ 1 C3 C4 CS

1

Al Az 13 A4 '15
2.8751 1.4688 0.3468 —0.8149 —1.6758

C, Cu Cie Cia(ho) Cua(lv) Cis
0.0285 0.4506 —0.6168 0.5539 —0.3300
c, Ca Cas Cas Cas Cas
0.0820 0.6618 —0.2139 —0.4514 0.5530
C, Ca Caz Cas Cas Css
0.2072 0.5214 0.5426 —0.1861 —0.5967
C, Ca Caz \ Cus Cus Cus
0.5139 0.1041 0.4021 0.6030 0.4470
Cs1 Cs2 Css Css Css

Cs0.8279 —0.2762 —0.3430 —0.3020 —0.1715
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Frixf1'®=2(Ci3)2=0.7609

F1N=2(C1)?=0.6136 C KEFH
f2®=0.0915

f2™N=0.4075 C, KRR
f3®=0.5888

f3™N'=0.0693 Cs KREFH
f4®'=0.3234

Fa™N=0.7272 Cs REHY
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Fr i3 Fi=v3 —(P12+P1)=0.9397
P12=2(C11Ca1+ C12C22) + C13C23=0.7329=P2,
Fo=y3 — (P21+P23) =0.3911
P14=0.0615=P4
P23=0.6081=Pj,
F3=v3 — (P32 +P3) =0.1478
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BlziEx 3 h LA EGWBHERKRFTE I H LAY
MR A1 Az A3 A4 As
L 3.0285  2.1959  1.0087 —0.2251 —1.5880
>C—(IZ~?—C=O + H,NNHCONH, — c, Cnh C Ci Cis(ho) Cra(lv) Cis
—0.1633 —0.2976  0.5356 . 0.6560  0.4093
N | | CZ C21 CZZ C23 C24 CZS
/C~$—$—C:NNHCONH2 + H-0 —0.3962 —0.8003 —0.4174 —0.0163 —0.1670
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2) CoCy D5 5 1l I e T O°C O RILEOR TR 1 —0.5158  0.0630 01539 —0.5955  0.6936
L OBELH () OBEATIRL T2 Bk A, ¢ v Ce Co Cu Co
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[ £2™N=0.0011 C, KEFH
F3®=0.0474
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0 1 F4®=0.0958
o 0 F2M=0.2847 Ci ity
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g " f0=0.1447 Co KT
CH, 1113,
4] éHZ ('Z=O B—7mEFZI bV 17u=4/5'( Cl/{fiiuz+Cl/{fi§:2+cljzi§:42
R F B X, N cljzxclsz N Cig2x Cri2 N C132><C152>
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CDORIGE Co DRBEFHIRIGHIC L » HY 2 TN &
Rz C, ORBRIGHEIZ L b CIm 2 RINLBIERT 5
RIiGEE 2 b5,

4) TAHDVHDOT A2 —AEEFTTMKDBLE R =
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O
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~C—0—C—C— + H0 + CHs0H
L

- HO—CI—é-C—o—csz
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ZORIGS Cr OREMRIGHIC X 5 OH™ DRI ECy
DOREBEFHRRIGHIC L D (CoHs)® o RIN & R IZEHER
LichDEE2BM5,
5) BMUETERBLRIGL 7 vatFo T+ vERERE
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>C—0—C—C— + H:0 + H* + CHs;0H
L

[
nd Cszo_(l:—?w(”:*O—H
0}

ZORIGS C ORBEISUGHIC X 5 CHs0™ oY
L C, DRBETFHRIGHE I X 5 HY © RIN & REICBEE
THERILEEZ BN D,

B7RrEXTZ PO y, 8, T/ PVEFR R
ST B R BEBICKICL > TINKSRB LA F e
Fe bW WRIEHEERF > TO A EDNE-TH 5,

CH,—N—
53 | | B—7mEF T8 A
CH,~C=0
Z DR F R A
. las 134 L9 o0
/}<1.51> A5 T e T
1.53
(1.54)
ST A= B = ROMETEE,
01 A0 42 40
- -
/Ci—$7—Cj_ —C—
T
1
GG C G G G
A Az 2s Aq As
3.0661  1.8696  0.4558 —0.3531 —1.9384
Cl Cll ClZ C13(ho) Cl4(IV) CIS
0.1918 —0.4765  0.2626 —0.6761  0.4583
C2 C21 CZZ c23 C24 C25
0.3512 —0.6080 —0.6162  0.0494 —0.3531
C3 Cal C32 C33 C34 C35
0.5339 —0.0523  0.0728  0.6093  0.5793
C4 C4l C42 C43 C44 C45
0.7062  0.5662 —0.0665  0.3651 —0.2074
C51 C52 CSS C54 C55

P 0.2367 —0.2828  0.7359  0.1893 —0.5353
& T (hy) BLBEDLFET O r BEFHEDHEERIL
AR D P&,
f>T7 o VRIRIEHIXREE E FRI RS,
B S, 28T, S, L, F,ix#4,
Frix /1™ = 2(Ci5)%=0.1379
[1NM=2(Ci)?=0.9142 Ci Ky
£2P = 07594 £,M=0.0049 C, KEFH
S8 =0.0010 f2M=0.7425 C, FKiHY
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fi®=0.0088 £=0.2666 Ci Iy
£ = 1.0831 fsM=0.0717 Cs FKETH
1, 1%,

C112 X CMZ + C112 X C]sz + C122 X Cuz

H“:4/B< A — Ay 21— s Qo — Ay

+ Cia?x Cy5? + Cis*xCy4? + C]SZXCISZ)
A2 —As A3 — A4 As—2s
=0.4417/8
II,,=0.1629/8
I53=0.1673 /B
I1,,=0.2496 /B
IIs5=10.4665/
$& IR [Tss > I > [Ty > [T =1l & T2 A #+ VY RIGHE
R Cs DENIETTDETFRENS,
RIGDEwBGI 2T B &
1) CsokE\EFHIREHIC LY HF #RINEHAR L » 7
FvES,

O
- (R FAZR [
>C—N—C—C— + H* H—C—C—N—C*
L | [l [
PN [
é, \C_(lj_N_%
Ol n

2) TO5FiLy, § LRHT IV BOBKTIED

NTF=251% 27 ) =FYARFEITL 3

C,HsMgBr CI:Hz—ITIH

CH,—C=0

ZOEAE C, DREFH Cs D R 7o M2 Ml D

TI/BERKDPECIBLEEZLNS,

3) A VMR E LTRSS Ic L b Co #RE

Tz HY % Cs AAREANIC (OH)™ % WX L T FiAnBA

BL7 /B (B77=v) %R,

!
>C—N%xC—C— + H*—OH~
L |

H>NCH,—CH,COOC,Hs

(R (Ik)
- H+—N—$—(|I—C—OH‘
4) EBOFETT=8/ -V ERIGLE—T 7=V =
F— N AT NEER,

0
o0

>C—N%C—C— + CHsOH + HCI
L |

L
- H—N—Cli—(lj—(":—O—QHs
0]

ZORIGS Co ARETFHIC HY % C 3R EANIC
(—OC:Hs)" IR LBBE LD EE X DN B,

3imEfiﬁﬁAutﬁ®ﬁ%@®ﬁﬁA&£&5
HEERHE-> T DEIEHETDH 5,
DG FICGEEREOREL D B, BIb,

0 OH
B
. CH:—0.
(6] éHr’O/CHZ

<= =)
IR FREIBEBE L,
1.47 147 - 1.47 1.47

1.304Fv 35 v (BRIKKL

CH c
5D Q.5 (15D 151 ] °
1752
(1.50)
KT A= R =B ROETEHE,
+0.2 +2 404 42 402
CH, 0 CH, 0 CH,
08 038 08 038
1
C Co C; G Cs
11 Ag Aa A4 AS
28919  2.2125  0.9967 —0.2886 —1.0125
C Cll C12 C13(h0) Cl4(IV) CIS
' 0.2796  0.1815  0.6210 —0.1903  0.6834
C C21 CZZ C23 C24 C25
® 05914  0.6834 —0.1578  0.3541 —0.1815
C C31 C32 C33 C34 C35
® 0.3791  0.0000 —0.4231 —0.8227  0.0000
C C4l C4Z C43 C44 C45
* 05914 —0.6834 —0.1578  0.3541  0.1815
Cs1 Csa Css Csq Css
Cs

0.2796 —0.1815  0.6210 —0.1903 —0.6834
JEHE T (hy) BLELETFO 7 EFHE ORI/
S,
oTo o VORIGHIEEREE - TR SR 5,
SHEE f,, 28Ty Sy Ly, FridBgd,
frix [1'B=2(C13)2=0.7713
F1N=2(C14)2=0.0724 C REFW
£2®=0.0498 f.N=0.2508 C, K&
£®=0.3580 f3™N'=1.3537 Cs RKEH
f4(E)=0.0498=f2(E)

fd(N)=0-2508=f2(N) C4 X&E’J
£®=0.7713=£®
fsN=0.0724= /LN Cs RETH

C1, C2 & C5, C4 bi‘)ﬁ'%@%%ﬁxoflﬂéo
I 1%

_ Ci®xCi® | C12xCis® | Cip?XxCia?
mo=1/8( =425+ FTS P R
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O O )
=0.4639/8 =155
I, =0.2916/8 =114
I3 =10.4999/8
¥R, Hss>INh=Iss> =1y & 75 1 F vEIRIGHE
X Cs DRLENKTT B LTFERIND,
RGO Epl =25 &P
1) BECHFET CMASBLC=F1 v 7Y a—n
ET AT e K ERAER,
C|H2—O-CH2—O*JCH2 + H* + H*—0OH™~ —

CH,—O—H"*

| H—C—(OH)~

CH;”—O—H* !

i
H—C—H

Z DG Cs DR G X » OH 0 BIN & H*
Y OEELHBRVAETT2EE 2615,

2) Cs KRB RIGHEIC & b Kt (NaR) %%k
WL7=4vESE,

FIER
Cle—O—CHz—O—(T‘HZ + NaR —

G

R—=C—0—CH,—CH,—0"

R{;C—O—CHz—CHZ—O%
n

RCL OKEFHICLBHF+ VESDTHE,

Cin—O—CHz—O—CIIHz + HY ——

H ‘|}CH2 —0—CH; _O_CHZ%
n

/CHz_CHZ
(71 0 |
“CH,—CH,

5 i) B (%
1.47 1.52 1.54 1.52
C C C C

(151 (1.5 “(1.54) C(1.54) ]
1.47

(1.51)
RT A= = HROBETEE,

F b5k a7 37 v (THF)

2

+0 +0.2  +0 +0 +0.2
O—().bCHz—C1 Hz————C1 Hg-——l CH:

0.6
C: G Cs C4 Cs

A1 A2 A3 A4 As
2.4580 1.4110 0.7660 —0.6689 —1.5662

c Cu Ci2 Cis(ho) Cuu(ly) Cis
—0.8397 0.4803 0.0000 0.2631 0.0000

c Ca Ca2 Cas Cas Cos
—0.3193 —0.2358 0.6153 —0.5852 —0.3484

c Cs Cas Cas Caa Css
—0.2190 —0.5737 0.3484 0,3506 0.6153

c, Ca Ciz Cus Cus Cas
—0.2190 —0.5737 —0.3484 0.3506 —0.6153

Cs: Csz Css Css Css

C5—0.3193 —0.2358 —0.6153 —0.5852 0.3484
FEHETCy, Cs &£Cs, Cy TG ELHTWB,

L (he) WHEDERFO 1 BEFHEEDHERIT/N &\,
fsTo7 o AMPRIGHEGREE THEE RS,

FTE S, - 28T, Sy, Ly, Fro 3884,

Frix F1%®=2(C13)?= 0
F1NM=2(C1)?=0.1384 Ci RE®

F2B'=0.7572 f>2N=0.6849 C, KEFH
f2B'=0.2428 f3N=0.2458 Cs R¥H
FaBr= £, (E) FaN = £,
Fs )= £, (E) FeMN=£,M
I, %
_ C12x Cy4? | Cii®’XCis? | C122x Cyy?
1 =4/5( TR PR R Ny N o
+ Ci22 X Cys? + Cis?xCyé? . Cis?xCys? )
A2—2s —Ae | As—4as
=0.0932
113, =10.5435
Haa =0.1476
Iy = IT3s 1Iss= I,

$61R, Iho=Iss> 3= >IN & 7eh 1 A+ Vv BIRIG
1% Co=Cs DL B2 EITTH L FHRENS,
RIEOEwBAZZETFB LY, C (Ri3Cs) OREFH
FUGHERZ X b BREAS I 4 AFRE W X 5 HY % T LB
BLTHFAVESR,

CH:—CH: =
0~ "+ H*—BF:OH- %»
“CH,—CH, =

H%C —CHZ“CHZ_CHZ—O%
n

THF bif?&&(l}“é B AR O RIFIsBHITH %,

N— C N

(8] | 0 1.3xF¥ Vv
CH:—CH:

R F R PR X
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1.47  1.22 | 1.47  1.47
e

‘}{2(1.51> , (:<1.51>C)(1A513j]}12
(1.54)
ST A= —HROETHE
+0.3
+0.1 +0.6 | +2 +0.2
CHz N C (0] CH:
1 1 0.8 0.8 J
1
cl CZ C3 C4 CS
A1 As A3 A4 As
2.7333 1.6094 0.8736 —0.6896 —1.3267
c, Cn Ciz Cis(ho) Cus(lv) Cis
0.2379 0.4814 —0.4749 0.1787 0.6740
Cz c2l C22 C23 C24 CZS
0.2867 0.6790 0.2655 0.3749 0.4995
c Ca Cso Css Csa Css
0.3738 0.2026 0.5475 —0.6622 0.2846
C4 C41 CAZ C43 C44 C45
0.7785 —0.5154 0.9606 0.3504 0.0432
CS C51 CSZ C53 C54 CSS
0.0398 0.0490 —0.6329 —0.5100 —0.4641

FHET (ho) BLEDOLFFO 1n EBFHEDHHEEL
INE,

foT7 o VIR IIEE - TR IR 2,

B fr Oy ©8T, Sy Ly, Fr (38,
fr i3 AB=2(C13)2=0.4507

AN =2(C10?=0.0319 Ci REFHW

£,®=0.1410  £o™=0.2811 C, K9
£3®=0.5995  fa™N=0.8770 Cs KK
fe®=0.0073  f4™N'=0.2456  C. K
FsB=0.8011  fs™=0.5325 Cs RETH
FIESRES
_ Ci?XCi? | Ci?xCis? | C1p?xCif®
e R e s
N Ci2xCis? | Cia2xCi? | Cig?xCys? >
Az —4s As—As As—1As
=0.3884/ 8

M»=0.3576/ 8

M33=0.4988/ 8

,,=10.1469/ 8

Is5=10.4919/8
R Ihs=1Tss > > >1hy L7 b A 4 VI RIGH
13 Ce=Cs DMLBNETTHETFHERS,

RGO KB ZZETFD LD,

1) g+ F+ V) vOERHBOBRE (AR LES
TAEEILEDTH D,

43 Cs ORBEFHIRIEHI X b Kk B F MM
ERIRL, FECHET 2 BREL, A
|
TN=C-0— = —N——
—C=0

DVCEVESR
|
C —_—

CH,—N=C—0—CH, H* T2,

| EMAL
H—CH,—CH;—N=C—0* ——

iy
—_—

H—CszCHz—IJ\V
—C=0

H{CH24CH2_$=|>
—C=01]1mn

2) KEBWTHEMKGBLT2—HLaT I F=g
J =N,

|
CH~N=C—0—CH: + H:0 —
r ]

H—(”:—ITI—O*“CHz*C[Hz
O H H

Z DORJEE Cs (_DMZL@:; 5072 ORINE Co D £

(E2 (AR l .
—N=C—0— ~CA$~07 hi5e

I
0]
ﬁo
3) =8/ —AERCHCI 2 FRERD EL—27 » L

= F RN AT 3N RER,

CH;~N=C—O0—CH, + HCl —
[ —

T
Cl—C—N—C:Hs

ZORIGES Cs DREMIRIGHEIC L 5 Cl- & HY 0 &
BEFILOPORNEABREMMORIGEE 2L OIS,

(6]
N\ . \
£9) CHzZ(IZ C]HZ O-t=lerFe735v
CH: CH,
R IR A
N 1.20 1.40 1.40 . 1.52 . 1.52
>

C CH CH C
B.Sl) (1.511)522(1.54) RETNE

(1.54)
RT A= B —RROETEHE,
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+0 +0.2 +2 +0.2 +0 +0
>C=C O CHz CHz CH:
1 0.8 0.8 1 1
1
C G Cs Cy Cs Cs
A1 Az Az A As As

2.9061 1.4299 0.6930 -0.2133 ~1.0213 -1.5942
Cn Ciz Cistho) Cua(lv) Cis Cis
0.1569 0.6079 0.3129 -0.2510 —0.3099 —-0.5907
Ca Coe Cas Cas Cos Cus
0.3049 0.2842 0.6214 -0.1794 0.5201 0.3193
Ca Caz Cas Cas Css Cas
0.8352 —0.3230 —0.0082 —0.1794 —0.4066 0.0222
Can Cyz Cus Cua Cus Cus
0.2819 0.2283 -0.5933 -0.2950 0.5178 —=0.4015
Cs Cs2  Css Css Css Cse
0.2874 -0.2259,-0.0118 0.8411 0.3981 —0.0139
Cer Cez Ces Cea Ces Ces
0.1510 0.5849 —-0.4046 0.2065 —0.2036 0.6223
FHET (ho) BUBED Cy, CoD 7 EFEEDOHSEE
NEDT 2 h VRIS D FTRE T B PIC S %o
FHEE fr, I, FrZitiVTo S, Ly 13EET,
Fr & fB=2(C15)2=0.1958

G

C.

Cs

Cs

Cs

F1MNM=2(C14)*=0.1260 C: KETH
£28=0.7723  £,N=0.0644 C, KETH
£:®=0.0001  fzN=0.0644 Cs KM
Fi®=0.7040  f,N=0.1741 C; RETFH
£5®=0.0003  fsN'=1.4149 Cs KM
f6®=0.3274  fe™=0.0853 Cs KEFH

I 1%,
O e T T S 1

L Ci?xCi? | Ci?XCis? | Cia?X Gy
A=A Aa—2s A2— 2

2 2 2 2 2 2
e S )
=0.6080/8

IT»»=0.4580/ 8

M33=0.1828/ 8

T4 =0.5432/ 8

Ms5=0.1896/

Mss=0.4016/ B
K& T > 4y > I > Mo > [Iss= 1133 £ 75 ) 4+ Y RIK
JSHE R Cy DALE A EITT 5 & FHBIh 5,
F % Fi=v3 —P12=0.9020

P12=0.8301=P3,

P23=0.3156=Ps3,
Fos=v3 — (P21+Pas+Pas)=0.6648
Pas=—10.0784=Ps;
P34=0.3331=P4s
F3=v3 — (Ps2+Ps)=1.0834
P4s=0.0728=Ps,
Pss=—0.1679=Pes
Fi=v3 — (Pus+Pss)=1.3262
Fs=+3 — (Pss+Pss) =1.7416
Fo=v3 — (Pes+Pe2) =1.9784
R Fe>Fs>F4>F3>F i >F. L7 h 5 2 » ARG
Pk Co DRLBNEITT S L FHEI D,
ZOHFIER fr, I, Fr) »bEOTERENR
¥ (fr, I, Fr OBMED MRS LB K & e %
) BRELI U AMPIRIGHELEELS, 2 F+VEARY
BHIREMMES (REHD 7ED A+ v HIRIGAS -,
RIGOEwRFIZZEF 2 LY
1) CL OREFHRIEH L A=V VES,

| 0
—C= $/ + H*—AICLOH- —

& [
HSCc—cr Eoplc—c

<_/\O I<_>On

2) Ci OREFHHREME(ES,

0 0
_(l::@ + H* — H}C—E(;j
n=n H\\\$ZO ns
T CH»—CH, — CHs* ——

0
il
CH,—CH—CH

n

Bz ~ - CHERESRLES YR I T L ORfic
YA D FET B, Fl 2,

CHz= (f_(l) . ‘[CHZ_(":"‘CHZ—(”:‘]'
CH;—C=0 (0] O] n
_O—CH—CH; GHs
CH:=C 1 - CH.C—CH.0CH
CH:—0 5
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CHs O
CHs _O—CHe L
c=c = ¢ COCH:~CH;

CHs S0—CH,
CHs

N TN
M A R ~nC C—~~C C* o

~N 7 I
) 0
Hcies ~nCr C — ~~C C—0" oIz

NS ANAN
0

i@i 711\4‘0
(10) O:CG vrmRVE )V

JB T BE A v
1.25 1.47 CH 1.53 CH 1.54 CH 1.53 ~
\ 2§ ¥ \ 2§ ¥ A2 & §2) wIi2
U1.54) (1.54)1.47(1.54) (1‘54)J
(1.54)
RT A= R —HROMETHE,
+2 +0.2 +0 +0 +0 +0
(0] C 1 CH: 1 CH: 1 CHz 1 CH:
1
Ci Cz Cs Cs Cs Cs
A1 Az A3 As As Ae

2.9965 1.6933 0.6180 0.2701 —1.6180 —1.7599

c, Cu Ciz Cistho) Cu(lv) Cis Cis
0.7669 0.4195 0.0000 0.4179 0.0000 0.2473
C, Car Cos Cas Cas Cos Css
0.5420 -0.0913 0.0000 -0.5128 0.0000 —0.6595
Cs Car Csz Css Cas Css Css
0.2172 -0.3639 0.6015 -0.3126 0.3717 —0.4719
C, Ca Caz Cas Cus Css Cas
0.1088 -0.5249 0.3717 0.4283 0.6015 -0.1710
Cs Csz Css Css Css Css
Cs

0.1088 —0.5249 -0.3717 0.4283 0.6015 -0.1710
Cﬁl CGZ C63 c64 C65 CGB
® 0.2172 -0.3639 ~0.6015 —0.3126 —0.3717 0.4719
FEHETCs, Co & Co, Cs BRROYEES BRI
ALF= - VIBREACEELE LR, X (he) B
BLEOEFEFOr BETEEDSEHEILNE ., €5TT
oA MBI RS L TS B,
SRS [y ©BVTo Sy Ly, Fr 38
frix AB=2(C1)?= 0
F1N=2(C10%=0.3493 Ci kEH

f2B =0 F2N'=10.5259 Co REHY
f3'®=0.7236 f3N'=0.1954 Cs XREFH
F4® =0.2763 FaN'=10.3669 Ca RKEM
FsBr=f,®) fsM= £, 00

FoB) = £, ) FeN=f,®™

11, i3,
Ci®xCr? | Cii2xCis?2 | C12XxCig?
ITi=4 < 15 11 16
n=4/8 Ar—A4 A1 —As A1 —As
+ Clzz X C142 C122 X c152 Clzz X Clsz
Ag—Ag As—As A2 —As
Cis®XCis? | Ci?XCis? | C1g? X Cre?
+ 16
Ry PR i e
=0.2801/8

11,=0.2310/ 8
II33=0.7452/
IT4=0.6568/ 8
Iss= 44 [lss=1I53
FER M=o > [yy=Iss > 111> 1y & e h A4V
RIGHEE Ca=Ce DRIENERTT 5 L TR S,
RIGOEmAREEF S LD,
1) G (XixCe) DRBEFMRISEIC LD Ry 7
TR ERAEL2-RU2.5:V 20 F Y ERER,

é § OCHo - %=CH—O
O/CHO O\CH:&zCH—/ O

ZORIGECs RO Ce DREFHLET AT F o B
R X BBKEEOEE (—CH— (ORI EE 2
bbb,

2) Na—O—CqHs DT THFRECBKEEIC X
horzexXvF)Frorrsev R ) vkl

s ANy O

D¢

ZORIED Cs, Co DREFRISUGHE I X B BLAKE

FiEE & AT Er ks,
3) HOKEEREE 180 CItmBvth Lo v v T/ —0
DT T = HER, 0
O /)L
f& CHsCO._ CH—C—CHjs
+ o - I
CHsCO” 0
+ CHsCOOH

ZORIED Co DFERICL BREFE (—lCI*—CHa )
0]



PHEETF RO 1 BEFHEL FOFFORIGHICH T (148 7

DRI & Bffe 5,
4) HCHO % 7A» VT AF v —A{b LTERALA ¥
SAFAY I RNV R VEER,

7 f(ﬂ
HCOH CH—CH:0H _HCHO,
THhY
(0]
0]

CH:0H
&IC QHZOH
HOCHz\C) \CH:0H

CH.OH
/ C
kC CH,OH 2HCHO HOCHs— CH-0H

ZORIES Cs, Co DRETFHIME & BT,
5) EIANACRNEFEELTY 7RV A=t Ih
WXV B R,
(0]

fE H
+ NNHCONH: — = NNHCONH:
H

+ H20
Z DORIGHE Cy OKRZBIBKIEE &£ Rfe 5,
DBk tER RVERRILEH TIECs, Co DKE
TFHEE RV Ci ORBEMFEERICHFHETH 5,
6) MEERIC X AL THIRL 7 v 2 LB R,
0}

() + 3 0 — HOOCCH:CH:CH.COOH

Z DRI C1 OFREZE RIGHE & % BRFE ORI A
T35 & Rid,

W% < OFBHERIEVBEDD L

0
CH, . CH
(11 | | FY A FH YV
NCH,”
R TR %
140 140 140 140 140
(1.5D “(1.5D) (1.5 “(1.5D (1.51)”‘
1.40
1.5

T RA =2 = ROETEHE,
+2 +0.4 +2 +0.4 +2 +0.4

(0] CH2 0] CH: 0] CH:
0.6 0.6 0.6 0.6 0.6

0.6
Ci C. Cs Cq Cs Ce
A Az A3 A4 As As
2.7093 2.2568 2.1825 0.2175 0.1432 -0.3093

c, Cn Ciz Cistho) Cu(ly) Cis Cie
—0.5982 -0.5931 -0.3458 0.1106 —0.2206 0.3315
c, Ca (% Cas Caa Cas Cas
=0.2651 0.0403 -0.2527 —0.7897 —0.1082 —0.4784
c, Ca Cs2 Cas Cas Css Css
-0.4222 0.7177 -0.4049 0.1295 0.2669 0.2340
C. Ca Ciz Cus Cas Cus Cus
-0.2340 0.2669 0.1295 0.4049 -0.7177 -0.4222
c, Cs Cs2 Css Csq Css Css
-0.4784 0.1082 0.7897 —-0.2527 0.0403 0.2651
C, Cer Ce2 Ces Ces Ces Ces
-0.3315-0.2206 0.1106 0.3458 0.5931 0.5982

FHET (he) BELOLFET O r EFEEDH R
BNE, o TT 2 MRIEHIIREE FRIN D,

SPEE S, T 1Z8ETo Sy, Ly, Fr (3B,

fr & f1'®=2(C15)2=0.2392

F1N=2(Ci)?=0.0245 C: REFH
f2P=0.1277  £,™N=1.2473 C, kiEmy
f3'®=0.3279 fs™N=0.0335 C; RKEFM
f4®=0.0335 FfiN=0.3279 C, kEm
/5B =1.2473 fsN=0.1277 Cs KEBFW
f6'®=0.0245 f6N=0.2392 Cs KEm
Hrroi

_ Cii?xCi? | Cii?xCys? Ci1i2xCi6?
O T T T i R
+ Ci22XCis? | Ci22XxCys? Ci2?x Cy6?
A2 A4 A2 s A2 A
+C132><C142 Cis?x Cys? C132XC162>
Az s Az As A3 e
=0.2232/8

113,=0.2000/4
II35=10.1648/5
11,,=10.2088/ B =15,
IIss=0.1312/8
IT56=0.2232/ I,
F&R Ihy=1Tes> Maa= 12> IIss>IIss & 7ch 1 F+ VY
RIS x Ci=Cs DB ETT 2 L FEINS,
RGO EwRGEZEFD LY, C, OREFRRIGHIC X
L HREFHME (H'BFsOH™) %W LB & @RI
hFEVESE,

e’ S cm B
| [+ HBROH ——
0

~cm
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£y
H—0—CH>—0—CH>.—0—CH." B

nf o—cr—o—ch: |,

i Co ICARIEEL 2RI & MBIER T 5 B4 1 RZAARIENIC
I BrFELES, o
MY FY VL CH, — CH, Wiz 07 S
\O/
BMLEESOHMBREAYWITE LI TW 5,
1!1
(12) cle/ \$ =0 BWRvrav
CH:2 (0]
B T RIEE 1k
| 136 _1-21 1.41 1.52

=0 1.41 "
C 0] CH: CH:
(1.5D (1.5D 1.5
1.41 (1.5

1.5
T A= = ROMETEHE,
+1 +0.5 +2 +2 +0.2  +0.1

| - _
—N*— C 0

1 3 €H, — CH:
506 06 1]
c
Ci C2 Cs ! on Cs Cs
A A A2 As Aq As As
3.1646 2.2066 1.7737 0.6913 —-0.7575 —1.2786
c, Cn Ciz Cis(ho) Cu(lv) Cis Cis
0.3199 -0.1178 0.6826 0.4089 -0.2131 -0.4529
C, Ca Coz Cas Caa Cos Cas
0.5497 0.0725 0.0403 0.2973 0.6767 0.3802
C, Ca Csz Cas Csq Css Css
0.6655 0.4948 -0.2512 -0.3203 -0.3460 —0.1635
C, Ca Caz Cis Cus Cys Cas
0.3439 -0.7604 -0.4619 0.1660 —0.2500 0.0120
C. Cs: Csz Css Cs4 Css Css
0.1178 -0.3343 0.1339 —0.6594 0.4723 —0.4457
C, Ce1 Ce2 Ce3 Cea Ces Ces

0.1428 -0.2146 0.4879 —0.4236 -0.3022 0.6518
FEHEZET (hy) BB LOLFETOr BFEEDH R
&,

W TT7 oA AVHIRIGH R L FBRI RS,
SHEE S, D 28\T, S, L,, Fr 3883,

fr & £1®=2(C13)2=0.9319

F1V=2(C1)2=0.3344 C1 KEFH

f2®=0.0032  f,™"=0.1768 C. REW
f3®=0.1262  f3™=0.2052 C; KK
Fi®=0.4267 f,M=0.0551 C, KEFH

fs®=0.0359  fs™=0.8696 Cs KEZM

f6®'=0.4761 fs™=0.3589 Ce REFH
VIS

_ Ci®xC? | Cii?xCis? | Ci12xCye?
H”—4/B< A=A * A1—4s * A1—As

Ci22XCis® | C1p?XCis? | C1p? X Cye?
* Az —A4 * A2 —As * A2 —As

O S )
=0.5596/ 8
I:,=0.2308/
II33=10.2904/
I,=0.1466/ 8
Is5=10.2428/ 8
Ms=0.3904/ B
&R, M >Hee> 33> s> o>y 2750 A + v
BIRGHEE CL DB ETT5 L FHRER S,
RIGOEHEGFZZEFH LD, BRY v 2 vORT6 R
BULEOLDIERESL TR TH S, 5 BRTES
BRI, BB 7 v =Y EMAT B LRELET A
-, XT7AH ) BEAESE5HE CO & NHs &7

N3 — AR,

0
L _NH;

N—C—O—CH.—CH: + NH3; — CO
L SNH.

+ C.HsOH

o
L

N—C—0—CH:—CH. + OH™ — CO: + NH;
[

+ C2HsOH
ZHEDORIGE Cy, Cs DREFH Co OREEHRIG
A (HYD) RO (NH2)™ OBRRIE & RigTEH» i
%60

CH=—CH.
13y o~ H)O WEE D,
™~ CH;—CH,
R FFed B v
143 13 143 143 LS
1.5 Y5 a5 2(1.54)”‘ :
1.43
(1.5D
RF A= B —=RROETIHE,
+2 402 402 42 402 +0.2
0 CH CH 0 CH. CH.
‘ 0.6 1 0.6 0.6 1 ‘
0.6
Ci C2 Cs Ca Cs Cs
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A1 A2 A3 A4 As Ae
2.7229 2.2972 1.1870 0.5303 —0.8060 —1.1334
Cun Ciz Cisho) Cua(lv) Cis Cis
0.7525 =0.4377 0.0541 0.4102 -0.0295 0.2621
C, Ca Ca Cas Cas Cas Cse
0.2518 -0.0138 0.5842 —0.3388 —0.5654 —0.4009
Cs Car Caz Cas Cas Css Css
0.1833 0.2338 0.5453 -0.3580 0.5864 0.3773
Cs Ca Cuz Cus Cu Cus Cus
0.3508 0.8400 —0.0748 0.3675 —0.0409 —0.1703
Cs Cs Cs2 Css Css Css Css
0.2394 0.1822 -0.4442 -0.5422 —-0.3749 0.5121
Ce Ce Ce2 Ces Ces Ces Ces
0.3936 —0.1218 -0.3944 -0.3996 0.4219 —0.5806
FEHBE T Co, Cs DT BFEEDOHTHERIRE VB
> TCT 2 ANMPRIGHE S ATREE TIN5,
B S, e, Fr @80T, Sy, L (30
Sk, =3B L T0.0059

G

F1M=0.3365 C: RkEH
£2®=0.6826 f£,N=0.2296 C, KEFH
£®=0.5947  f£,NM=0.2563 C; REFH
£®=0.0112 f£™N=0.27001 C, REW
Fs®=0.3946  fs™M=0.5880 Cs; R
Fe'®=0.3111  f£™=0.3194 Cs REH

Iy vk Iy =3B L T=0.3072/8
I =0.6048/ 8
M3 =10.6272/ 8
I1,,=0.2808/ 8
s5=10.6072/ 8
e =10.4436/ 8
W [hs>ss=1Ioy > e > > 750 A F VY
BIGHER C 5 DRIEN 1T 5 & THEN D,
F, & F ,=/3 —(P+Pi)=0.6215
P12=2(C11C21+Ci12C22+C13C23) =0.4542=Py;
F2=+v3 — (P21+P23) =0.5548
P16=0.6564="Ps1
P23=0.7231=Ps2
Fs=v3 — (Pa2+P3s) =0.5692
P34=0.4398=Py3
Pus=0.5405="Ps,
Fi=v3 —(PisXPss)=0.7518
Pss=0.4944=Pgs
Fs=v3 — (Pss+Pse) =0.6972
Fs=+3 — (Pes+Pe1) =0.5813
R, Fa>Fs>FI>Fs>F3>Fe E8h 525 VR
O Co DB EITT 2 & TFHEI N5,

RGO ERMZ2EF 5 &1
1) Cs REFHAE (H'BF;—0H") &I LR
LA FAVES,
_ CH=—=CH._
~ CH.—CH:"~
Ey
H—CH=CH—0O—CH:—CH;—0" ——

O + H*—BF;0H" PR,

HfCH=CH—0—CH,—CH;—0}+—
n

2) Cs DREFHREHICEI ) e=vvEE b,

CH=CH
~ ~
O H*—BF;0H- —

SCH,~CH, ™ ?
H—CH—CH* H+-CH—CH
-d o= b b

“CH,—CH,~ l |

CH: CH.) n

3) AV VEIEFAEEDHECi, Ci, Cs, CeDREMK
EHE XV BEEBIRNLFBE=F L v 7 ) 2 —1itsh
B35,
_CH=CH__
\CHZ—CHQ/CH 20 +2H.0 — 2 HCOOH
+ HO—CH.—CH.—OH
4) ClRfER &85 &2.3-Cl, 1.4 4 FH v & ER,

¢ 9
CH=CH CH— —CH
7 S0 + 20— 07 >
CH.—CH: S CHr—CH:"

5) HCl # E#RCTIERA S ® 5 L 3-Cl ot 4 v &4
o

T3
CH=CH CH—<€H
g ~0 + HCl - 0] >
~ CH,—CH: SCH,—CH:”

4, SHEORIGILET oA VRIGETCIA Cy IR IR X
NCs KBELALRIGE BRI NETHD

CH=
(14) | >CH2 I RRYEDST YV
CH=
1.35 1.53 1.53 1.35
R F R ICH CH C C CH

130 a5
1.46

(1.50
R A= B —HROBTHE
+0 +0 +0 +0 +0
H C CH: CH CH
1 1
1
Ci Cs Cs Cs Cs
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A1 Az Az A4 As
2.0000 0.6180 0.6180 —0.6180 —1.6180

Cl Cu C12 Cla(ho) CM(IV) C15
—0.4472 0.1161 0.6217 0.3628 0.5181

c, Ca Co Cas Ca Cos
—0.4472 —0.5554 0.3025 0.0110 —0.6324

c, Cs Csz Cas Cas Css
—0.4472 —0.4594 —0.4347 —0.3806 0.5051

c, Ca Cu Cus Cus Cus
—0.4472 0.2715 —0.5712 0.6048 —0.1849

Cs: Cs2 Css Css Css

C5—044472 0.6272  0.0817 —0.5980 —0.2059
Cz, Ci, Cs, Co BEBRDI-DBHDOFETIXS,,
FHAZEDONS, DFLERIEEE LR TNBDTS,
DLEHRBT 5,
X (ho) BB EDHEBERO n EFEEDODERIRD
KE QW AT 2 VIR XFTEEOEAN EE 2B

ha,
g‘l’%uﬁSr, Hrry FTy L, 03’.7%\1‘{, frci%m%o
C2 Ci2 C 2)
©_ 1 12 187\ _ 4
S, 1% Sy 2<T R ) R LT
N — bt L B
§100 =2 4212 ) 07578
S48 =(.7472 } S
S, = 0. 4948 P
S48 =1.4945 } o s
Sy = 0.7842 G
S4B =1.4945 } . e
T
S« =1.2261 ©oEE
S5 B)=1.4946 }
Cs XRETH
S5 =1.2094 )
VIS
_ Cii®xCi? | Cii®xCis? | Ci22xCy?
Hll_4/£< A — A4 + A1—As + A2 — A4

2 2 2 2 2
O O )
=(0.2700/ 8
I, =0.3420/ 8
ITss=0.3833/
I144=0.3445/8
Iss =0.3738/8
R Iha > Iss > =1 > T & Te D A A+ v EIRIGHE
1 Cs ® —CH,— E2ETT 2L THEIND,
Fr i3 F1=vy3 —(P12+P15)=0.7705
P12=2(C11Ca1+C12C22) +C13C25=0.4590=Py,
Fo=+3 — (P21 +Pss)=0.4942

P15=0.4948=Ps,
F3=v3 — (Ps2+P3s)=0.5543
P2=0.7789=Ps,
P3s=0.3989=DPys
Fy=+v3 —(Pss+P4s)=0.6393
Pus=0.6939=DPss=Pa4
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